
Installation Instructions

Phoenix Lighting   8711 West Port Avenue   Milwaukee, WI 53224 USA
Phone: +1 414.973.3300   Toll Free: 800.438.1214   Fax: +1 414.973.3210   www.phoenixlighting.com

Highland® Series Cross Arm Mount

N5400262A
10.27.20

Product design and specifications are subject to change without notice. 

! CAUTION

•	 All wiring should be done by a licensed electrician in accordance with state codes, local codes, and National Electrical Code (NEC) or International Electric 
Commission (IEC) standards. 

•	 Improper installation may result in serious injury and void warranty. 

•	 Contains parts and assemblies susceptible to damage by electrostatic discharge (ESD).

•	 Surge protective devices should be utilized for fixtures installed in environments subject to power surges outside the specified operating parameters.

Tools and Materials

(1) #3 Phillips head screw driver

(1) 9/16 inch wrench

(1) channel lock pliers	

Mounting

1.	 Attach cross arm bracket to cross arm or tower base using at least 2 x 5/8 inch bolts, 5/8 inch lock washers, and 5/8 inch flat washers through holes in adapter 
assembly.  

2.	 Lift fixture and fasten to cross arm mount slots via the trunnion bracket using two 3/8 inch cap screws, two split lock washers and two flat washers.  
For Meridian series, use M10 x 1.5 metric bolts.

3.	 Rotate fixture according to photometric simulation or desired orientation and tighten screws to recommended torque of 18-20 lb-ft.

4.	 Thread power supply cord through cord grip on junction box and connect to terminal block. 

5.	 Tighten cord grip on junction box, hand tight plus ¼ turn.

Figure 1: Cross Arm Mount Exploded View


